Lesson 35

Emenvalugs ¢ Etgenvectors

Recall: A vechy U an nx)  malviy, usmlkj Aore ted “’y

ULy, W egq. Ve [v‘] I were a'.u.luxj with N=2, we uSunJl‘j
wite w4 gd e ez vl (4]

Definition If A 0 an mn matvix, A o veal numbes and
Av=2v, then A v wlled  an ¢igen va[UfJ ord V i called an

€ i%m vector.

Finding ergenvalues
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0= £Tv-Av
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] riont since ovder ,{. podrix mult.
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Se v=0 1 CleMl‘j a shukyon. ',E]C Yere v  ancther sefutron
for vio, Tt negps tT-A y W& nvertible, (Otherwise we

o WPy Vot e by @AY g v=0.)

Recal A madrix U inverfible ;f andl onlj 1{ s determirant
U vimzeo.
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So A =77, AL ="5 are oW e\ju\w.\und.
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- ‘7.\0-15\'.21 [\ -1 1o i =
Ogiion 1. Row redu -5 s|? 5 S o]—“) o o
M Sc\w-' =2 + 1\3 =0 ()

-Sx+5y =8 (2)
() +ls w Tx=y). Plg ¥ P oym (D gves 0=°.
Eithr oy U Wy yoa “fee vewiahle” We can ok
Y wl  pd an X wing xey. Se pide g1 (fr s7mplr(_rhj)_
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